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PART-A

COMPREHENSION

Directions (For the 12 items which follow) :
In this section, you have 03 short passages. Afler cach passage, you will find several questions
based on the passage. First, read a passage and then answer the questions based on it You are
required to select your answers based on the contents of the passage and opinion of the author
anly. ‘
Examples ‘1" and ‘J* have been solved for you.

PASSAGE (EXAMPLE)

In our approach to life, be it pragmatic or otherwise, a basic Tact that confronts us squarely
and unmistakably is the desire for peace, security and happiness. Differem forms of life at
different levels of existence make wp the teeming denizens of this carth of ours, And, no matter
whether they belong to the higher groups such as human beings or to the lower groups such as
animals, all beings primarily seek peace, comfort and security. Life is as dear 1o a mute creature
as it iz to a man. Even the lowlicst insect sirives for protection apainst danpers that threaten its

life. Just as each one of us wants to live and not to die, so do all other creatures.

.  The author’s main point is that 1. Which one of the following assumptions
(a) different forms of life arc found on or steps i5 essentizl in developing the
the earth author's position ?

(b) differemt levels of existence are (a) All forms of life have a single

possible in nature overriding goal

{c) pesce and security are the chiel poals iKY Thiecil] o pureiid.of dercaure
- identified with a desire for peace
{c) All beings are divided into higher

and lower groups

of all living beings
{d) even the weakest creature struggles

to preserve its life {d) A parallel is drawn between happiness

and life, and pain and death

Explanation :

1.  The idea which represents the author’s main point is “peace and security are the chief goals
of all living beings”, which is response (¢). So (¢} is the correcl answer,

J.  The best assumption underlying the passage is “The will 1o survive of a creature is identified

with a desire for peace”, which is responsc (k). So (b) is the correct answer,

2 {Contd.)




PASSAGE-]

An old man with steel-rimmed spectacles and very dusty clothes sat by the side of the road.
There was a pontoon bridge across the river and carts, trucks, and men, women and children
were crossing it. The mule-drawn cans staggered up the steep bank from the bridge with soldiers
helping to push against the spokes of the wheels. The trucks wound up and away heading out
of it all. The peasants plodded along in the ankle-deep dust. But the old man sat there without
moving.

I. The term “pontoon bridge™ means : 3. The mule-drawn cars stappenod up because
{a) a temporary bridge constructed with {a) there were too many mule-carts
the help of ropes (b} the mules were indisciplined

{c) it was a steep uphill journey

a bridge made by soldiers during a
®) , X i {d) the carts were blocked by the peasants

war
{c) a bridge supported by floating flat- 4.  The reference. 1o the old man in the
bottomed boats beginning and the end of the passage

indicates that :

(a} the writer wanls 1o compare between
the bridge and motionless old man

(b) the description that takes place

{d) a bridge made with wooden planks

2. The soldiers were "helping to push against

the spokes of the wheels™ because : between the first sentence and the
{a} they wamed to stop the carts last semtence is irrclevant
(b) the spokes of the wheels were broken (c) tEer& ifs an unnetchssari.rdrcpcﬁtiun in
ine relerence to the old man
() the mules refused 1o draw the carts {d) the figure of the ald man is brought
{d) there was a steep elevation under a sharp focus
PASSAGE-TI

When vegetation sprouts in the desert, it is a good sign but when the ice in the Arctic and
Antarctic begins 10 turn green, there is something terribly wrong. Reports say that an iceberg,
approximately the size of New York city, has broken off from the icy continent. An Argentine
team discovered huge cracks in the polar ice caps. These developments can have serious implications.
If" polar ice fields melt, our ¢oastal cities might be submerged, and sea levels acress the world
could rise between 1.65 and 6.09 metre in different parts of the earth, This is probably due to
global warming,

3. What can be considered as a “good sign” 6. The melting of ice fields in the Arctic
in the desert 7 and Antarctic regions is danperous becauss ¢
{a) when shrubs and trees grow there {a) theice will furn green and poisonous
(b) it will cause huge fMloods which will

(b) when it snows in the desert destroy coastal regions
(c) when ice caps melt and there is water {c) it will create global WArTHng and will
(d) when there is vegetation found in the badly affect our climate

desert (d} huge cracks will develop all over the

world

&L
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T

Polar ice caps develop huge cracks because : 8. What do you think the intention of the
{a) of the movement of the earth author is ?
(b) of the breaking off of icebergs {a) 'to describe strange phenomena in
(c) of the crowding of cities like New e
York (b} to report findings of research teams
(d) of rising tempsratures working in the polar regions
{c) to make us awarc of the dangers of
global warming
{d) to compare developments in deseris
and Arctic regions caused by global
warming
PASSAGE-IN

It was a very cold evening and so fow people were seen out on the streets. [ did not go owt

mysell although it was my habit not to keep indoors afier sunset. So | closed all the doors and

windows of my room, took the book which had been lying opened on the table, and tried to read

il. The cold was getling so severe that | started shivering, so [ wrapped myself up with a bigper

blanket. But | could not continue reading the book because I was nearly rendered incapable of

turning the pages.

9.

The author's habit was o :
(a}
(b}
(e}
(d)
If it was nol so cald the author would
have :

(a)
(b)
(ch
(d)

read in the evening
sleep in the evening
go out in the evening

play in the evening

liked to work

liked to sit and look out to u'l;t streets
liked to rcad

liked to have a stroll

L

11.

The author could not continue reading the
book because :

(8} he did not Iils.u: o

(b} hec was feeling tired

(e} he was feeling very cold
(d) the lighis had gone off

, There were nol many people outside

because :

{a) it was a rainy li:!-r'tt:ning
(b} 1 was a cold evening
{c) it was a dark evening

(d) there was heavy snow outside

(Comd.)




REARRANGING PARTS OF A SENTENCE

Directions (Far the 6 ilems which follow) @
In the following items, some parts of the sentence have been jumbled wp. You are required to
rearrange these parts which are labelled P, @, R and S to produce the correct sentence.
Choose the proper sequence and mark in your Answer Sheet accordingly.
Example *Z* has been solved for you.
7. Some people believe that the effect is very bad on_children ol cinema

P Q R 5

The correct sequence should be

(a) P-5-R-Q

(b) S-P-Q-R

(c) S-R-P-Q

(d) Q-5-R-P
Explanmaiion :
The proper way of writing the sentence is “Some people believe that the effect of cinema on
children is very bad™. This is indicated by the scquence P-8-R-0Q and so (a) is the comect
Answer,

13, Atthe door that e would have the deor broken ppen theg puard shouted
. P Q

if the persons inside did not heed his call al the top of his voice

R 3

The correct sequence should be

{a) S5-P-R-Q

{b) Q-5-P-R

i} P-R-5-0

d) PO-R-S
14. by bandits were driving through a desert ares a man ang his daughier

F Q R
when they were held up
8

The correct sequence should be :

{a) S-P-R-Q

(b) R-Q-5-F

(c) S-R-P-Q

(dy P-Q-R-S

5 {Contd.)




15, Qur finest contemporary achievement  and toil

P
is our unprecedented expenditure of wealth
R
The cormrect sequence should be -
o) P-Q-R-§
(b} R-Q-P-5
(e} R-P-0-8
{d) P-R-)-5
16. It seemed 1o him like sceipg one's reflection
E
WO mirrons while standing between
4 ]
The comect sequence should be ;
(@) P-R-S-Q
by S-PO-R
{e) R-S-P-Q
() Q-P-S-R
17. Aseries of shocks s known as earthquake

P

Q

fiar all
an endless quest

that result from sudden earth movements or tremors

R

causing widespread destruction of life and property
5

The correct sequence should be ;
(a) P-Q-R-S

(b) R-P-0-8

(c) R-5-P-Q

(d) R-Q-5-P

in this world a man has

F Q

The comect sequence should be
(a) Q-P-R-5

(®) P-Q-R-S

(c} R-Q-P-5

(d) Q-R-S-P

4

Q

which can be recopgnised through seismic waves

Q

it is possible that the best friend  may tum aeainst him

s

(Contd.)




SPOTTING ERRORS

Directions (For the 10 irems which follow) :

(i) In this section, a number of senlences are given. The sentences are underlined in three
separatc parts and each one is labelled (), (B and {c). Read each sentence lo find out
whether there is an error in any underlined part, No sentence has more than one error. When
you find an error in any one of the underlined parts {w), (B or (¢}, indicate your response
on the separate Answer Sheet at the appropriate space. You may feel that there is no error
in @ sentence. In that case, letter (&) will signify a ‘No error’ response.

{ii) You are to indicate only one response for each item in your Answer Sheet. (If you indicate
more than one response, your answer will be considered wrong.) Errors may be in grammar,
word usage or idioms. There may be a word missing or there may be a word which should
be removed,

(iii} You are mof required to correct the error. You are required only Lo indicate your response
on the Answer Sheet,

Examples *‘P' and Q" have been solved for you,

P. The young child sinped A very sweel song. Mo ermar
(a} (b} (@) (d)
Q. We worked wery hard throughout the season Mo _ermor
(2) {b) (<) (d)
Explanation :

In item P, the word ‘*singed’ is wrong. The letter under this part is (), so (B is the cormect
answer. Similarly, for item Q, (d) is the correct answer, as the sentence does nol contain any
error.

19, Let us congratulate him for his success in_the examinalion. Mo _error

{a) (b) () (d)
20. Many people prefer to travel by the road  because it is less expensive.  No ermor
(a) (b} {c) (d)
21. Sh beside herself in j when she came 1o know
(&) (b
that she had been sclected for the job. Mo _error
(e} (d)
22. Mother tonpue is as natura for evelo f man's mi
(a) (b)
< mother's milk is for the develo nt_of the j § A Mo error
(e} {d)
23. e Prim inister as well as h relary were expected lo arrive in Chennai
{a) (b)
on Saturday morning. Mo _error
(<) id)
24, The spgaker was not only slow but also inaudible as well. Mo error
{a) (b} (&) (d}
25. The crowd surged forward to have a plim of their favourite leader.  No error
(a) (b} (c) (d)
26. There is a distipctive possibility that he will leave the jo
{a} : b}
gnce the investigation is gver. Mo error
{c) {d)

7 {Comd.)

(]




27, Many a star are twinkling in the sky. Mo error
(a} {=)] (4] id}
28, We discussed the problem g0 lhoroughly that I found it easy 1o work it gut.
{a) (b) (<)
Mo error
(d)

Directions (For the 06 items which fofiow) :

Each of the following items consists of a sentence followed by four words. Sclect the symonym

ol the word {occurring in the sentence in capital leters) as per the comext.

29. His descriptions are VIVID.
fa) Detailed

(b) Cateporical

{c] Clear

(d) Ambiguous

Friends have always DEPLORED my
unsociable nature.

(a} Deprived

(b} Implored

(c) Denied

{d} Regretted

an.

3L

Despite his enormous wealth, the
businessman was very FRUGAL in his
hahbits,

{a) Heckless

(b} Law-abiding

{c) Unprediciable

{d) Economical

Directions (Far the 06 items which folfow) :

32. He was ENGROSSLED in writing a story.
(a) Absolved

(b} Absorbed

(¢} Interested

(d} Engaped

Pegple fear him because
VINDICTIVE natre.

(a) Wiclemt

(b Crucl

i) HRevenpgelul

(d} leritable

He always has a very PRAGMATIC
approach to life.

{a) Practical
(b} Proficient
{c) Potent

{d} Patronizing

33, of his

34,

Ezch of the following items consists of a sentence followed by four words or group of words.
Sclect the antonpm of the word (occurring in the senicnce in capital lelters) as per the context.

33, What the critic said about this new book
was ABSURD.

{a) Interesting

{b) Impartial

{c} Sensible

{d) Ridiculous

36. The issue reised in the forum can be

IGNORED.

(a) Removed
{b) Considered
(e} Set aside
{d) Debated

L=

37. After swallowing the frog had become
LETHARGIC,
{a) Appressive
(b} Dull
(e} Mctive
(d) Hungry

18, For the first time | saw him speaking
RUDELY 1o her.

(ay Softly

(b) Gently

{cy Poliely

(dy Slowly
(Comtd.)




35,

Directions (For the 10 items which follow) :

Diust storms and polluted rivers have made
il HAZARDOUS to breathe the air and
drink the water,

(a) Convenient
(b} Risky

{¢) Wrong
(d} Safc

40,

Only hard work can ENRICH our country.
(a} Impoverish

(b} Improve

{c} Increase

(d) Involve

"

Each of the following items is followed by four words or proup of words. Fill in the blanks with
appropriate word or group of words,

41,

42.

43.

44,

45,

Your present statement does not
what you said last week.

(a) accord w0

(b} accord in

(e} accord with

(d) accord for

| had a vapue that the lady
originally belonged to Scotland.

{a) nolion

(b} expression

(¢} imagination

{d) theory .

The prisoner showed no for his

crimes.

{a) hatred

(k) obstinacy

(¢} remorse

{d} anger

It is inconceivable that in many schools
children are subjected 1o physical
e in the name of discipline,
(a) wviolation

(b) exercise

(e} wviclence

(d) sccurity

We have not yet fully realised the _
consequences of the war.

{a) happy

(b} pleasing

{c) grim

(d) exciting

LA =]

46.

47.

48.

49,

50.

Happiness consists in being what
wis have,

{a} contented 1o

{b} contented with

{c] contented for

{dy contented in

Hiz rude behaviour is a his
orpanization.

(a) disgrace for

(b} disgracc on

() disgrace upon

(d} disprace 1o

Mo child is understanding, Cne
has to wait and provide proper guidance.
{a) dull w
(6] dull in
(e} dull of
(d) dull for

| am fally
industry.

{a) alive with
(b} alive 1o
() alive for
{d} alive an

the problems facing the

The Romans were science.
{a) bad in
(b} bad to
{c) bad for
{d)} bad at
(Contd.}
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a2,

53.

PART—B

Which among the following staiements

about Nirupam Sen isfare correct ?

1. In the year 2009 he was appointed
as Special Senior Adviser (o the
President of the UN General
Assembly on the world financial and
cconomic Crisis

2, He was formerly
Ambassador 1o the UK

Select the correct answer using the code

given below ;

ia} 1 only

(b} 2 only

(¢ Both 1 and 2

(d}y Meither 1 nor 2

Consider the following statement :

[ can only thank a genius director
like Gury Duit for giving me an oppeortunity
to wark in his films and translate his
conceplions on screen. | was able fo
involve (myzelf) in many inmovarive
experiments he had iried. The best example
is the making of "Kagaz Ke Phool' {1939),
which is the first cinemascope veniure in
the Indian film indusiry,

On receipt of a prestigious award of [ndia
the above stalernent was made recently

the Indian

by :

(a) Santhosh Sivan

(k) Ravi K. Chandran
(¢} Ramachandra Babu
(d) V. K. Murthy

Consider the following stalements about

General V. K. Singh ¢

1. He is the first frained commando to
take over as the Chiefl of the Army
Staff of Indian Army

2. He belongs to the Rajputana Rifles
regiment of Indian Army

3, General Singh succeeded General
Deepak Kapoor

Which among the statements given above

is/are correct 7 ;

fa) 1,2 and 3

(b} 1 and 3 only

(c) 3 only

(d) 1 and 2 only

54.

55.

Consider the following passage and identify
the form of dance theatre referred thereto
using the code given below :
Thix is a uniguely traditional af dance
theatre of India with a formidable classical
nd. The main essence of this form
of dance drama Is its attachment with
religion, which provides the mosi common
theme for its plays. The performance beging
with a prayer qﬁ@n‘:jg fo the lord Ganesha,
which iy followed by a comedy acl,
accomparnied By the bacdiﬁmund music af
the chenda and the maddale, and a lala
fcymbals) played by a team of three. The
narrator. who is also o part of the 1eam
is called Bhagavata, and is the producer.
the director, and the head of the ceremony.
Hix ’:':n‘mary iask imvolves the narration
of the story through songs. infroduction
of the characiers, and occasionally
conversing with them. dnother unigue
Seaiure of it is the totafly unrehearsed and
wrwritten use of dialogues, which mokes
it so.special.
Code :
{a) Cheraw
(b} Yakshagana
(¢} Devaratiam
(d) Jaira

In @ rare case, a record number of abow

20000 employees of the Government of

Kerala retired on a single {on 31 March

2010%. Which among the following

stalements isfare correct in this respect 7

1. The mass retirement follows the
Kerala government's move to allow
employees retiring any day during the
year to work 1ill March 31

2, Im a recemt bid to reduce burden on
the stale exchequer, the Government
of Kerala reduced the retirement age
of government employees from
39 1o 58 years

1. More than 50% of those retired were
fram the Education department

Select the correct answer using the code

piven below :

{a) 1,2 and 3

(b) 1 and 3 only

(e} 2and 3 only

(d) 1 only

{Contd.)
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56.

57

Car manufacterer Maruti has stopped selling

its popular brand Maruti 800 in some major

cities of India from 1% of April 20010,

Which among the following statements

isfare correct in this regard 7

I. The enging of the car is unable o
meet the stricter Bharat Stage 1V
norms that become mandatory in some
major cities of India from that date

2. The company has decided to promote
another brand of car in the small car
segment in some select cilies

3. The company wants to shorlen ils
product line

Select the correct answer using ihe code

given below :

{a) 1,2 and 3

(b} 1 only

{c) 2 and 3 only

{d) 2 only

In a major cco-friendly step lowards

renewable cnergy generation in India, in

June 2010 scawesd sourced ethanel {ethyl

aleohol}, a biofuel additive in transport

fucl, has been used to run a car for Lhe

first time. With regard to this which of

the following statements isfare cormect ?

1. Experiment in this direction was
carried out by the scientists of Central
Salt and Marine Chemicals Research
institute (CSMCRI), Bhavnagar

2. India has become the first country in
the waorld to preduce and use green
fuel io run cars

Select the correct answer using the code

given below :

{a} 1 only

by 2 only

(c) Both | and 2

{dy Meither 1| nor 2

58. Which of the followinyg aspects with regard

59,

G0,

to the T-20 world cup (Men's) cricket and

T-20 world cup (Women's) cricket

tournaments held in the year 2010 was/

were common 7

. Both the tournaments were won by
England

2, The tournaments were held i West
Indies

5. There was a tie maich cach in both
the 1ournaments

Sclect the correct answer using the code

given below !

(a) | only

(b} 2 only

{(¢) 1,2and3

(dy 2 and 3 only

Which amongst the following statements
isfare correct about the INS Arifiam ?
I. i is India’s first nuclear submarine
2. It is India’s first aircrafi carrier

3. I has been indigenously built in India
{a} |1 only

(b 2 and 3 only

(¢ 1and 3 only

(dy 2 only

Which among the following statements

about the Zaranj-Delaram road isfare

eorrect 7

1. Tt was construcied by Border Road
Organization in Afghanistan

2. It links India with Afghanislan via
Pakisian

3. This road will open up market for
Indian goods in Afghanistan via Iran

Seleet the correct answer using the code

given below :

(a} 3 only

(by 1 and 3

{c) 1and2

{d) 2 only

{Contd.)
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The next four (04) items are based on the following Table :
Match List I with List 11, List 111 and List IV and select the correct answer using the code given

List IV

Lise BF
falruciure) {Function of the sysiem)

below :
Lise I Lise If
L {Bady system) {Chrgran) S
A. Blood Circulation 1. Bone marrow 1. Alveol ; i.
B. Excretory . Thymus . Telymphoeyte | i
€. Alimentary 1. Intestine 1. Myocardium | iii.
D. Skeletal 4. Lung IV, Matrix | v
E. Blood 5. Bone V. Nephron | w.
F. Respiratory 6. Heart VI Villi vi.
G Mewrological 7. Kidney VIL. Axon wil.
H. Immunological £ Meuron WIIL. Platelets wiii.
6l. List T List T List T List [V 63, List I List
@ A l 1] ii {a) E 1
by B 7 Vi ¥ ey F 2
€ A [ 11 ii ) E ]
(dy B 2 Y v (dy F 4
62. List I List 1 List Il List IV Bd. List | List
(@) C 3 VI vi @ G 8
k) D | v iii (b} H 3
) C 2 Vil wi ey G g
@ D 5 v vii (dy H 1
14

Clot formation
Perfusion of tissues
Support and protect

of body frame
Oxygenation

Filtration of body waste
Absorption of nutrients
Fighting infection and
foreign invasion
Transmission of

electrical impulse

I List I List IV

I i

I iv
v v

1 iv

Il List T List IV

Vil wiii
i iv

VI vii
1 vii

(Comtd.)




¥ =T (04) vetn Breaffe woh v osmofe ¥ -
R g o gd m s g v e Al i R R s oW o wt wd

____: -
Tt | gt i g gat 1y
I i P . .. BN O . . PO il i
A TE-SFTEEI 1. sfte-Tw s i m w B
B. FTHa] 2, umE i, T-Ef i F s
C. ¥WETC 3. wiE n. W gEE | G WY 2w W oawew
A grem
D. FE 4. THE v, amend iv. ST
E. T 5. uftw V. T v. it amiire w P
F. T 6. FW VI THiET vi. W w5 s
G doEm 7. I Vil o vii. HEEm # A
e W yRE
H. v g. dfxnifm ViIL B viii. ¥gqa amn
' LEEY
61, Tl g0 g m g 63. gL oo oghomo gV
(@) A 1 i i ta} E 1 1 i
by B 7 Wi v (b} F 2 | iv
€] A ] m i gy E 1 v v
(dy B 2 v v dy F 4 I iv
62, woT o gRm g v 64, g oo oghom owhoav
fa) C 3 Vi vi {a) G g Vil viii
{b) D 1 v iii by H 2 I iv
) C 2 vl vi ) G 8 Vi vii
iy D 5 v vii {(dy H 1 11 vii
15 (Contd.)




65, Consider the following statements
regarding the recent global outbreak of
*Swine Flu' :

66,

67,

. The agent of infection is not well -

identified

2. The risk is higher in those who
consume pork

3. It has a propensity to spread from
contact with an infected person

4,  Absence of an effective treatment or
vaccine makes it risk for a global
pandemic

Which of the statements given above is/

are correct ?

{a) 1,2and4d

(b) 3 and 4

{c}) 2 and 3

{d) 3 only

When dried raigsins are put in plain water,
they swell up. If put again in brine solution,
they shrivel up. This phenomenon indicates
the praperty of : :

{a) DifTusion

(b) Perfusion

{¢) Osmosis

(d) Fusion

Consider the following items

1. Proteins, Carbohydrates, and Fats
2. Vitamins

3. Minerals

4. Water

Which of the above are considered as the
constituents of food ?

{a) 1,2 and 4 only

(b} 1 and 3 only

(c) 2 and 3 only

(dy 1,2, 3 and 4

Directions :

The next fowr (04) items consist of two
statements, statement | and statement 1 You

are 1o examine these lwo stalements carefully

and select the answers to these ilems using

the code given below :
Code :

(a}

(b}

(c)

(d)

fE.

609,

Both the statements are individually truc
and statement IF is the correct explanation
of statement |
Both the statements are individually true
but statement Il is wef the correct
explanation of statement [
Statement 1 is true but statement 11 is false
Statement | is false but statement Il is
true
Statement 1 : Autotroph plants contain the
pigment chiorophyll for
meeting their requitement
of carbon and energy
Statement 11 : Photosynthesis is  the
process of converting water
inio food usiﬁg sunlight and
oxygen
Statement | @ Reproduction is the process
by which living organisms
produce young ones of their
species. There are different
forms of reproduction
Statement 11 :Sex organs, male and
female, are mandatory for

reproeduction

{Contd.)




63,

66,

a7,

B o ¥ EU W wy F dftew g

# fom # Prefafe sof w faw

Fifr -

1. @FAm & wE vEiTe sfofyefim
ai &

2. e e IpeT-wie wE oael o
maFT AT # 1

3. o, uwlm =R | ved oo e
1wy & .

4, woEt FUErT o SF W w5
Afvmw meromR wEmTd A Sife
ERIGHES

Fodwr wo § F-wA v a7

(a) 1,23 4

(b) 33 4

c) 23k 3

(d) Fa 3

et e fve oww # 3@ W
T @R B} AR 9w few # awh
wmg @t fee g ol 30w we B
red w gfa wh # o7

(a) Tammm

(b) T

fc) IO

(d) e

widt, FElewie w W
Rrefes

A"

el

e A # W d, aww F uws W
anr g7

{a) F=m 1, 23 4

(b} #9 L 3T 3

(¢} Fwa 2 #re 3

(dy 1,2 34 4

1
2.
3
4.

Ader

R =TT (04) WO ¥ D WA, woa | oA
w9 18 s 9 sl o waueh @
wlen ach B s o oy ® g MR
fon w7 w1 wdm & @A -

T

(a)

(b)

{c)
(d)

68.

69,

A wee aizn: oo § R W L
w | wd =mEm #)

A Fom mften. wew ¥ B owwa
w1 W @ mmEn TE R

wus | wew # Beg #wa 11 awew @)
wo | wEca ¥ Beg wwm Q0 wen 8

= el ¥ s
ot # wmEvEar A gff
#q wieha ofs dam 2
TE HEEW §F yiEa §
Prad qd & wemw o
ST W WH wE W
w W # wumwon
B

A 9% ghim 8 fad grn
wHfea o st wfEt
Ak ¥ F@ @

YT |

FOq 1

w9
A sl w0 S yoTETEE
£

(Contd.)
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70, Statement 1 :

Statement [1 :

71, Statement | :

Statement 11 :

Human beings have 23 pair
of chromasomes, one of
which s the sex
chromosome and  the
remaining 22 autosomes.
The X-linked diseases are
related to mutations on a
sex chromosome

Colour blindness results
from a mutation in X
chromosome

Sarkaria Commission
recommended that
Governor of a state should
be a non-political persen
appointed after consuliation
with the Chief Minister of
the state

This could be achieved
through amending Article
165 of the Constitution of
India

72. The Legislative Council in a state in India
can be created or abolished by the :
{a) Parliament on the recommendation
of a Governor of the state.
(b} Parliament alone.

(¢} Parliament after the siate assembly

passes the resolution to that effect.
Governor of the state on the
recommendation of the Couneil of
Ministers,

. The Government Bill means a bill
introduced by a @

Member of the Treasury bench in the
Lok Sabha

Member of the Parliament who is not
a Minisier

Minister in the Lok Sabha
Minisier in any House of the

Parliament.

The next four (04} items are based on the Table given below :
Match List | with List 11, List 11 and List 1V and select the carrect answer using the code given

below .
Lise d List {I Ligt 11} List f¥
{Ruler) {Important Baitie) {Dynasiy) [Fignificani work) =
A. Ashoka 1. Against several rulers Kushana i Writer and poet, patron

B. Samudragupta

C. Kanishka

of Morthern and
Southern India
2. Kalinga war

3. Battle of
Pundravardhana

. Harshavardhana 4, Apainst the Chinese

and the Parthians

of learning besides an
empire builder

MW aurya ii.  Political conguest,

patron of learning

1il. Pushpawvati | iii. Holding the 4th

Buddhist Council and
patron of learning

. Guptit iv. Spread of Dharma,

zhimsa and welfare
activities

74, List T List 1T List Il List IV
{a) 1 1 v
{b) 2 i iv
(e} | v i
(d) 2 v ii

75. List I List I1 List FII List IV
ay C 4 I it
(by D i i i
¢ C 4 | i
(dy D 3 m i

List I List 11 List T List IV
B 1 m i

C 4 v i
B [ v ii
C 4 I i

List | List IT List [IT List IV
1 it i
3 1 ii.
1 1 ik
3 i i

o =0F

(Contd.}




70. #uT | e ¥ s % 23w 72 B e @ Rum ofem Bew e
e 2 Rl d oo R e o Tl A o owed #
wmtm-tﬁrqzz {R}W%I“qqﬂﬁmﬂm
e @ o ¥ X-vwea .

T e e et (by 37 ¥W% g

# wrw ¥ (c) T fauFvise @0 T W W\
I aetfeyen X Ty ¥ eetad w9 IR HOT F wvaw wHe g

# uftwiym ol & (d) Fmfeg B Tl w v 3 e

71, wEA | gosiig s 3 wegfy & BT
B Rl T WU g3 gt P @ s PredRe 38
T ® gEnft & vl s gro qoeafm frines S @ 7
¥ P M-aerfifas afi (a) @wEw ¥ aw ue ® AR owem
g wifen arm
165 % ®eT % muwm (©) s X g
T R wwm 8 (d) s # Baf ff w7 & w0 g

W T (04) werm A & owd aroh o g § o

Fﬁ”ﬁlﬂﬁﬁ:ﬂll,ﬂﬁIllﬁﬁlvﬁqﬁﬁmﬁﬁﬂaﬂ?ﬁﬁqﬂﬁﬁzﬁmmﬂﬁ

It g

gt 1 g l g | gt v

() ool meredh | qwew) | (e )
A, ¥WTE I owwdt o fend L i wEEn Fefm 83 #
AHd # HtE yifrrn fus w o,

mER # REg A W R
B. wgEw 2, R gE I wn i, TR e,

Fiup LCELL] gEE a“rnfra’rzmﬂﬁfa
24 3. & Hl. ii. ifa =1
o HOTEE, T W W

UECES

D. weae 4. W S ogfid | v omw iv. ud, wff oF FemRer

[ # feg | | wrfwaT a1

M. g n ghm owh v 76. T ogh o g om oWy

@) A ! It iv (@ B ! 1 i
" A 2 Il iv by C 4 v it
) B 1 v iii ¢ B ! v ii
@ B 2 v iii (d 4 I i

75, gD ghm g 77 TR oo g om gh oy

(a) C 4 | il (&) A 1 I iii
&}y D 3 m i by D 3 m i
€ C 4 I i &) A l I iii
@ D 3 m i W B3 W '




78.

79,

80.

Right to Information in India is a .

(2) Fundamental Right

(by Legal Right

{¢) Both Fundamental and Legal Rights
{(d} Weither Fundamental nor Legal Right

Which among the following statements

are correct with regard to the Portuguese

in India ?

1. They had the monopoly over the
Eastern trade in the 16" Century

2. They possessed Bombay in the
beginning

3. They had trading settlements at
Cochin, Diu and Daman

4, The Mughals denied them any trading
concessions

Select the correct answer using the code

given below :

(a) 1,2 and3

{b) 2,3 and 4

(€} 1,2 and 4

{dy 1 and 3 only

Which among the following statements

with respect to the Comptroller and Auditor

General of India isfare correct 7

. The procedure and grounds for his
removal from the office are the same
s of a Judpe of Supreme Court

2. He prescribes the form in which
accounts of the Union and the States
are 1o be kept

Select the correct answer using the code

given below :

(a) 1 only

(b) Z only

{c) Both 1 and 2

{d) Meither 1 nor 2

El.

82.

83

Consider the following statements relating

to Gandhian strategy of Satyagraha :

1. Under the Gandhian strategy, which
may be described as Struggle-Truce-
Struggle (5-T-5), phases of a vigorous
extra-legal mass movemenl and
confrontation with colonial authority
alternate with phases, during which
direct confrontation is withdrawn

2. The entire political process of 5-T-3

was an upward spiraling one, which
also assumed that the freedom struggle
would pass through several stages,
ending with the transfer of power by
the colonial regime itsell X

Which of the statemenis given above is/

are correct ?

{2} 1 only

(b) 2 only

{c}) Both | and 2

(d} Neither 1 nor 2

Rajmohan Gandhi’s book A Tale of Two

Revolts” (2009} deals with the :

{a} Taiping and Indigo revolis

(b} RW“D“ of 1857 and the American Civil

ar

{c) Revolt of 1857 and the Deccan
Uprising ;

{(d) American Civil War and Santhal
Uprising

Consider the following statements relating
to Jawaharlal Mehru's attitude towards
science and technology :

1. Mehru was convinced that science and
technology were crucial to the solution
of India’s problems relating to
underdevelopment and poverty

2. To emphasize the importance of
science and scientific research, Mehru
himself became the Chairman of the -
Council of Scientific and Industrial
Research

Which of the statements given above is/are

comrect 7

{a) | only

(b} 2 only

(¢} Both I and 2

{d) Neither | nor 2

{Contd.)




78.

79,

8O,

wiw ¥ gEm o

(a) q@ sfterc

(b) Rftw afimm # ;
(e} A s i RBirs sfeer =50 8
(@) 7 & A7 e 2 7 @ Pfiee
. aftEwT #

W A iR # weu § Prefew
weaf ¥ & -8 @ & 7

. iﬁﬂmﬁ‘xﬂﬂmﬂm
TR &1

2. WiEF H g9 v Y ERE o

3. g oy wrdm, f odtw oww A
=i afemmi of

4. e A 3 B R amfits oz
# sfm e oan)

A% Ru €z w1 w@m st w8 T P

(a) 1,23 3

() 2,3 4

() 1,23 4

(dy daw 13t 3

wig # Proas e meanriies § B

H Preafafim § #A-md wga owd

B2

1. a# o¢ & gz @ ulkwm e amur
&Y @ gmmy e F B
TEEE F U5 # gEe F #)

2. @8 3w wveu % faigw e ¥ Pl
wa & Teny A e el ar ¥

#1 Ru 3¢ w1 WM w W@ I T

(a) wEH 1

(b) #wq 2

{c) 1 3T 2 3=t

@ T 1 @A d2

maﬁm:ﬂmﬂ’rwﬂﬁ#ﬁwﬂ

s wAl § R wA-msd ol B8 -
{a) w1
(b} ®aw 2

T e 1A 2 e

B2.

83.

(dy 5 @ | e o9 & 2

TEEEd T ) gEw U 2R afe g
fdteza’ (2009) Beafafm faeel & @

e wWeg ¥ B 7

() emsfin sy e fads

(by 1857 %1 e o wlhd 17 g2
(c) 1857w fagw o v frem

(d) ¥oim 7E gE i duw fem

TAET TR AFF & fHEm @ faiE

# v ﬁmfhﬁﬁmﬁqﬁﬁaaﬁ

o7 faam

1. ﬂﬁmm ﬁmrmwﬁmaﬁwn
#r P & wetn W o) wAeT
F g A P dh Jrifed
Pemfos

2. R o dwfrs aewE # wee
o o#d §1 & fm dew =A@
fantrer st afmitfies arqeieans afiem
T FEH T |

IR e A wr-msd w8 2

(a) ¥a3 |
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B4

B3,

&6,

“No Taxation without Representalion” was

the popular slogan of :

(a) Indian freedom struggle

(b} American war of independence
() Russian revolution

(d} French revolution

Which one of the following pairs is moet
comectly matched 7

{a) Power of : Creating a new
Parliament State

(b) Power of Stale :° Altering the name
Lepislature of a State -

{c) Equality before : Both Indian and
the law non-lndian citizens

(d) Eguality of : Indian citizen
apponunity

Which among the following statements
with regard to Haja Rammohan Roy are
correct ?

He started the Atmiya Sabha

He wrote the Gifi of Monotheist
He published the Precepts of Jesus
He founded the Brahmo Sabha

B e hd

Select the correct answer using the code
given below |

{a} 2,3 and 4 only

{b} 1,2 and 3 only

fed 1,3 and 4 only

(dy 1,2, 3 and 4

§7. Which onc among the following was not
a demand of the early congress (1885~
19035) ?

{a} Indianization of the superior grades
of the administrative services

(b} Purna Swaraj/complete independence

{c) Abolition of the Arms Act

(dy Autonomy within the emping

The next three (03) items are based on the
passage given below !

The myth is that the Indian Mational
Congress was started by A.Q. Hume and others
under the official direction, guidance and advice
of no less a person than Lord Dufferin, the
Viceroy, lo provide a safe, mild, peaceful and
comstituiional cutlet or safety-valve for the rising
disconlent among the masses, which was
inevitably leading towards a popular and violent
revolution. Consequently, the revelutionary
potential was nippeﬂ in the bud. Most writers
accept the core of the myth, that a violem
revolution was on the cards ar the time and
was avoided only by the foundations of the
CONEress,.......... All of them agree that the
manner of its birth affected the basic character
and future work of the congress in a crucial
manneE.

8B, The colonial rulers, according 1o the safety

valve thesis, were lrying to use CONgress

as

{a) a constitutional outlet for the mass
discontent against the authorities

(b) an instrument for the spread of British
culture in India

(c} an instriment o expand the Indian
market for the products of British
industrics

{d) an agency for social change in India

{Comd.)




B4, Torm whaffaes #rf woum @Y Rl
H # frmE Srefin oqmo o 7

{a) WS w=EEm wad
() =t wEar g
(c) = wfEw
(d) =ienl wifa

85, Frefafem ¥ wi9-=1 wF pm wh gifem
TR 7

(a) ®W% # Wi AT TR W OGS
T
{b) = faweEw . TET oW AT
#1 ofi TEAT
() Ffr & www . owrefm v -
AT A TiE a4
(d) wmeT ® AW . wrei Tmits

86, Proafafem sosf % @5 & oo oodes
T # fom ¥ owd ¥ 7
1. SR aedm @ oseen 9
2. =EA % frge sis A Bef
3, S T feew g fem ow

EaEiG B el

4, SR wEr war # e oA
A R wz @ w0 & 9 I R
{(a) FEd 2, 34T 4
by = 1,2 3% 3
{e) F=1 1,33 4
fdy. 1,2 3 4% 4

87, frfafm % @ w-@® o afvs
| wiiE (1885-1905) 1 =i T & 7
{a) wmafrs el #t g=uar A
AT
(by gof e aegel Ew
(¢) wew sfufrom & wafig
(d) @mwe F seorla wEw

we o (3) woriw 1R R afsdy w0 smaftn
F

firee o 2 B wmofn el wim W
e wal g A % Er, U anferfis
frew, wofesfa @i weme & sder Beor o St
TETA WE TEE B oFagr fh e
T oft, mit s gefEm, dbve, migd s
Hdufys Brem o1 guen T8, F9-wE # 4
F50 gU 99 e & forw weT FRm oW we
@ 5 weferd v & o dwhm d@v fEs
F-a W T wE W ATl 9RHE, FEer
i Haemn F o wws § #oga B onan
afwin fos fags & 3@ o B w=ww ww@
? & wr few w39 waw @2 @ 9w o
# gew e daw Filw F Fee § g,
"""""" ¥ ot wh v ¥ TR wiw & @
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7 fyofes ofid & gofm fe '

88, shoPrfim wes, gom-mea wen W
FaTe, Wiy e Preafafen § & B e
¥ ghpr wed @ yuw ST w4 7
(a) WG & RBeg F9-swamw &
o wh dduafre Prem & w9 3

(by @orm ¥ Rftw wgle & w2
IuFE F Ry K

fc) Ffem o & Toiel & Fig owdg
T & B & o e # By
|

(dy s § wtaE ofteds # o e
# owq i .
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9.

o

al.

d) 1

The author describes the safety-valve thesis

a5 a myth because :

(a) evidence are insufficient to establish
the validity of the thesis,

(6 the author has concluded that in the
light of available materials the thesis
does not hold ground.

{c) the congress was a nationalist
organization right from the starl.

(d) the violent anti-colonial movements
did not come to an end with the
foundation of the congress.

The core of the safety-valve thesis rests

on the assumption that :

{a) a violent anti-colonial revolution was
bound to occur unless a constitutional
platform like the conpress was

founded.

(b} the congress would assist the British

in administering the colony.

{¢) the congress leaders would constitute
the colonial elite.

(d) the congress as a pary would assist
the colonial rulers to implement
political and social reforms.

Match List | with List 11 and select the
corTect answet using the code given below
the lists :

List I List {1
{Grassland) {Country)
A. Pampas 1. Venezuela
B. Veld 2. Australia
C. Downs 3, South Africa
D. Llanos 4, Argentina
Code

A B C D

@y 4 3 2 1
b 4 2 3 1
ey 1 3 2 4
2 3 4

92.

a3,

94.

Consider the following statements :

I. In India, the largest concentration of
roads is found in the northern plains

2, The ratio of surfaced road to the total
road length is lower in the narthern
plains

Which of the siatemenis given above isfarc

correct 7

(&) 1 only

{b) 2 only

{c) Both 1 and 2

{d} Meither | nor 2

Which one of the following does mor

characterize the Himalayas 7

{2) Various parallel ranges of the
Himalayas form a convex arc

(b} There exist syntaxial bends at both the
terminals of the Himalayas

(c) Indus, Sutlej and Brahmaputra rivers
are examples of antecedent drainage

{(d) The Himalayas are wider in the east
than in the west

Which among the following statements

provides the best evidence that a river is

flowing through a rifi valley ?

(a) The Chambal valley is marked by bad
land topography

(b} River Tapi does not have Delta but
Estuary only

{e) River Mahanadi flows through = porge
at Satkosia

{d) River Colorado has the Grand Canyon
aleng its valley

{Contd.)



https://www.sarkariresults.io/

9,

Q0.

a1.

FEF gAY T § o Bas &

' # affy & 2 T0if%

() TH TWITAT W WORDE ® e
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1
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a8 Fee gfTe

Gl 7
(are 4 gﬂ
A, THITE 1, I
B. ¥ 2, e femm
C. s 3. i wfrE
D, &= 4. 5=
o

A B C D
@ 4 3 2 1
by 4 2 3 1
€y 1 3 2 &
1 2 3 4

92,

93.

a4,

Prrhfem et T e it

l. 9g #, ®gS W gETR  HERU
Fodl deet o feer B

2. WA WEF G @ Ayfen wEE W
ym e EEAl W oww g

Fafn FaA A AFA-mA wdh B 7

{a) #FE 1

{(b) #ad 2

{c) 13T 24

(@) T& | M h 2

frefefim # & S8 B 9 Bimm

e 7

(a) fEoem Ft B oalgr AT o8
= 1 Pt e #

(o) Fmem F 9 B oo sewdm d
forarmrT #

(¢) Ty, weemr St g G g A
I

(d) Tawem, o & g A ool ¥ sl
i &

Freafefim & § S0-0 w0, B o &

fige wrd] & e voET 613w H4Ten HE

WEE w # 7

(a) Hom el P oty vl & gee
2

(b) ardt = # I 8 B =fw dam
wEE #

ey TETE T aediEen 9 US AerEs 6
B gl :

(d) FErE 0 ¥ wed 97 F am-am
iy #F 8
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95, Match List [ with List 1l and select the
correct answer using the code given below
the lists :

List ! List If

{Places indicated (Seismic zone)
in the map)

A 1. Zone ¥V
B. 2 2. Zone IV
C. 3 3. Zone 11
D 4 4. Zone I
Code :

A B C D
fa) 2 1 3 4
by 2 3 1 4
) 4 3 1 2
(@ 4 1 3 2

96, Armange the following Military Training

Institutes in India in terms of their
geopraphical location from Morth to South :
Indian Military Academy

Oficers’ Training Academy
Mational Defence Academy
Mationgl Defence College

5. College of Defence Management

Select the correet answer using the code

1.
2.
LN
4.

{a) 1,3, 54,2
By 1,4,3,5,2
{c} 4,53 21
(dy 3,4, 1,2, 5

a7,

o8,

Which among the following statements

characterized El Nino ?

It occurs at imepular intervals

It carrics warmer water

It carries less saling water

Its atmospheric equivalent is southern

oscillation

Select the correct answer using the code

given below :

(a) 1 and 2 only

(b} 2 and 3 only

{c] 3 and 4 only

(dy 1,2, 3and 4

Consider the following statements regarding

Andaman and Nicobar Islands :

1. It enjoys equatorial climate

2. Thisis the only place in India where
a voleano is tocated

3. This is the only place in India where
coral bed is found

Which of the statememts given above is!

are correet 7

{a) 1,2and3

(b) 1 and 2 only

(¢} 2 and 3 only

(dy 1 only

Which of the following has/have been

declared as national waterways in India ?

I. The Allshabad-Haldia stretch of river
Ganpa

2. The Sadiya-Dhubei stretch of river
Brahmaputra

3.  The Cherla-Rajamundry streich of
river Godavari

Select the correct answer using the code

given below :

{a) | and 2 only

(b) 2 and 3 only

{c) 1 only

(dy 1,2 and 3

I
2.
3
4.

(Comd.}
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100. Consider the following statements :

a1,

. Ina ::}rcicr.n.-e, the direction of wind
flow is counter clockwise in the
northern hemisphere

2. The tropical cyclone lades away when
it reaches land because there is no
larpe supply of warm moist air

Which of the statemenis given above is/are

correct 7

(=)

(b} Z only

(¢) Bath | and 2

{d} Meither 1 nor 2

1 only

Which among the following statements

about the Morth Atlantic Drift is/are

correct 7

1. It keeps the west coast of MNorthern
Europe ice frec

2. Itis responsible for the warm air mass
which interacts with the cold air mass
from the Polar region and causes
rainfall in Western Europe

1, 1t meets the Labrador current mcar
Vancouver Island and causes dense
fog

Select the correct answer using the code

given below :

(a} 1, 2and3

{b) 1 and 2 only

{c} 2 only

(d} 1and 3 only

102.

103.

14,

Which one among the following explains

the earthquakes of the eastern margins of

Asia?

{a) Subduction of Pacific plate under

Asiatic plate

(b} Subduction of African plate below

European plate

{c) Subduction of Indian plate under
Asiatic plate

(d}

Subduction of American plate under

the Pacific plate

Unlike other Mendians International Date
Line is drawn zigzag in order (o :
(a) permit certain fand arcas and groups
* of islands 10 have the same calendar
day
(b) facilitate the sailors to adjust time in

their watch
(¢} adjust the day in calendar while sailing

from east to west and vice versa
{d} make 180°E and 180"W coterminous
The time difference between the two citics,
city A (30" N 60" ) and city B(30' N 20’ E)
would be
(a) &0 minutes
(b
(e} 20 minutes

(d)

0 minute

34 minutes

{Comid.)
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105,

106.

Censider the following statements |

1. The tropical year is shorter than the
sidereal year

2. The solar day is longer than the
sidereal day

Which of the statements given above js/are

correct 7

(a) 1 only

(k) 2 only

(c) Both 1 and 2

{d) Meither 1 nor 2

Consider the following statements about

rocks :

1. Shale becomes Slate through

, metamorphosis

2. Shale is converted to Slate when it
is subjected to tremendous pressure
and high temperature

Which of the statements given above is/are

correct 7

(a}

(b) 2 only

(¢} Both 1 and 2

1 only

(dy Meither 1 nor 2

107. Which of the following statements is/are

108.

comect 7

1.  Mumbai receives more rainfall than
Pune because it is located a1 the
windward side of Western Ghats

2. Vidarbha region experiences semi-and
climate as it iz located in a rain
shadow region

3. In India monsoon reaches Kashmir
valley at the last

Select the correct answer using the code

given below .

{a) 1,2and 3

(b} 1 and 2 only

(¢} 2 and 3 only

(d} 1 only

Which of the following statements regarding

south-west monsoon in India is‘are correct 7

1.  Monsoon reaches the Malabar coast
first

2.  Rajasthan does not get rainfall from
south west monsoon

3. South-wesl monsoon retreais when
the permanent wind belts start shifting
to the south

Seleet the correct answer using the code

given below !

fa) 1,2 and 3

(b)

(e} 3 only

(d)

1 and 2 only

1 and 3 only -

(Contd.)
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L1

109, Which one of the [ollowing is the correet

110,

sequence of the four stages of water

movement in a hydrological cycle ?

{a) Evaporation-Condensation=
Precipitation—Infiliration

(b} Evaporation—Precipitation
Condensation—Infiltration

{c) Infiltration-Evaporation-
Condensation—Precipitation

{d}) Condensation-Precipitation=
Evaporation—Infiltration

Match List | with List 11 and select the
correct answer using the code given below
the Lists :

List { List i1
(Agenis of erosion) {Topographical
feaiure)
A, Running water 1. Cirque
B. Glacier 2. Barchen
C. Wind 3. Rift Valley
D. Underground 4. Doline
water 5. Gorpe
Code
A B C D
@-5 1 2 4
by 5 2 1 3
ey 4 2 1 5
d 3 4 1 2

111 Which among the following are the

properties of good paint ?

1. The paint should be opagque and have
high covering power

2. The solid particles in paint shouid
refiect much of the destructive light

to ensure long life of the paint

St

Combination of pipments, e.g., white

lead and TiQ, give betler result

4, Addition of plasticiser destroy the
elasticity of the film and leads to
cracking

Select the correct answer using the code

given below :

{a) 1, 2and4

(b} 1,2and3

{¢} 2 and 3 only

(dy 1 and 3 only

.By which one among the following

mechanism, soap removes dirt (soil) from

cloth 7

{2) Soap dissolves the soil as such

{b)  Soap reacts with soil and converts them
into soluble silicates

(t) Scap takes away the oily pant of the
seil and thus separates the soil from
the cloth

(d) The soap molecules bind with the soil,
lift the soil and keep it suspended
which can then be rinsed away

(Contd.)
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14,

115.

Which one among the following stalements
is mot cofrect about graphite 7

(a)
(k)
(<)

It is the most stable allotrope of carbon
It is an electrically conducting material
Crystalline spherical beads of graphite
have very good lubricating property
under dry conditions

{d) Ttisthe highest grade of coal

Which one among the following is mof a
property of salt ?

(a) Salts have ordered
arrangements called lattices
Salts have low melting points but high
boiling points

Salts are brittle

packing
(b)

(<}
{d)

Salts conduet electricity when
dissolved in water or even in the

molten state

Which among the following statements with

regard to pH scale is/are comrect 7

1. It is a logarithmic scale

2. The scale is limited o 0—14 because
the ionic product of water is about
10

3.  The lower the value of pH the greater
is the acidity of the solution

Select the correct answer using the code

given below :

(a)

(b} 1,2 and 3

(e} 1 and 3 only

(d) 2 only

1 and 2 only

EL ]

116,

17

118.

An oxidizing agent is a substance which :
{a}

increases the oxidation number of an
element in a given substance

decreases the oxidation number of an
element in & given substance

(k)

ig oxidized itself in an oxidation-
reduciion reaction

{e)
(d) loses electrons in an oxidation-
reduction reaction

Meuwtral water with pH about 7 becomes
slightly acidic when acrated. This is
because :

{a) oxygen [rom air is dissolved in the
water which makes the water acidic

(b} dirt, which get contaminated with the

water during aeration makes the water

acidic

{¢) ultraviolel radiation dissociates water

molecules and makes water acidic
(d)} carbon-dioxide from air is dissolved

Which one of the following statements is
not comrect 7
(a) Diesel burns with air in a diesel engine
at a high temperature at which nitrogen
and oxygen from air can combine
whereas petrel burns at a lower
temperature at which nitrogen and
oxygen can not combine
(b) Diesel contains some nitrogenous
compounds whereas petrol does not
{¢) Mitrogen from air is easily dissolved
in diesel but it is not soluble in petrol
(d) A catalyst is used in diesel engines
which contains nitrogen whereas petrol
engines do not need such catalysts

{Contd.)
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119,

120.

Consider the following statements with

regard 1o the properties of water :

I, Water is & good solvent for ionic
compound but poor solvent for
covalent compound

2. Water is a good solvent for covalent
compound but poor solvent for ionic
compound

1. Water has maximum density at the
temperature 277 K

Which of the stalements given above are

comect 7

(a)

(b) 2 and 3 only

(€} 1 and 2 only

(dy I}, 2and3

1 and 3 only

Calcium carbonate is naturally available as
limestone and can also be synthesized from
quick lime. It is seen that the composition
of the elements in both the natural and
gynthetic calcium carbonate are same. The
validity _af which one among the following

laws is confirmed by this observation ?
(a)
(b} Law of definite propontion

Law of conservation of mass

{c) Law of multiple proportion

(d) Awvogadro's law

121.

122,

When agueous solutions of two salts are
mixed, the third salt formed may appear as
a zolid precipitates or a clear solution
depending upon the solubility of its ions. It
is observed that all salis of Na, X, NH, are
soluble, All nitrates and bicarbonates are
also soluble. All halides (chlorides,
bromides, iodides) are soluble cxcept those
of Ag, Hg (1) and Pb. All sulphates are
soluble except those of Ag, Ca, Ba and Pb,
Which one among the following
combinations of solutions will produge a
solid precipiate 7

{a)
(b}

Sadium sulphate and barium chleride

Magnesium sulphate and barium
bicarbonate

(&} Lithium iodide and barium chloride

{d) Ammonium sulphate and pofassium

bromide

A mixture containing 5i0,, NaCiand NH,CI
is taken for separating the constituents.
The suitable steps required for this are :
{2) Sublimation-dissolution-filtration-
crystallization

(k) Dissolution-filtration-crystallization-

distillation
(¢} Sublimation-evaporation-dissolution-
decompaosition
{d} Dissolution-distillation-decomposition-

evaporation

{Contd )
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- 123,

i24,

125,

lodized saltisa

{a) mixture of potassium iodide and
common salt

mixture of molecular iodine and
common salt

(b)

compound formed by combination of
potassium indide and commeon salt

compound formed by combination of
molecular iodine and common salt

(e)

{d}

Which one among the following is a
chemical process ?

(a) Distillation of sea (salty) water

(b} Crystallization of impure salt (NaCl)

(¢} Production of iodine (1) from sea-
weeds

(d} Sublimation of iodine (L)

Which one among the following statements
regarding the properties of mixtures and
compounds is mof correct ?

(a) A mixture shows the propertics of its
constituents but the propertics of a
compound are entirely different from
its constituents

(b} A mixture may be homogencous or

hetérogeneous but a compound 15 a

homogeneous substance

The constituents of a mixture can be

separated by physical methods but

those of a compound can not be
separated by physical method

Energy is either absorbed or evolved

during the preparation of a mixture but

(<)

(d)

not in the preparation of a compound

126.

127,

128

velocity

.dlﬂ

Which one of the fallowing characteristics
of the particle does the shaded area of
the velocity-time graph shown above

“Illlllm

time

represent 7
(a)

(b} Acceleration

hMomentum

{c) Distance covered
{d}) Speed

A body is at rest on the surface of the earth.
Which one among the following stalements
is correct regarding this 7

(a)
(k)
(e}

Mo foree is acting on the body

Only weight of the body acts on it
Net downward foree is equal to the net
upward force

(d} None of the above staternents is comect

A pendulum beais faster than a standard
pendulum. In order to bring it to the standard
beat, the length of the pendulum is to be :
(a) reduced

{b) increased

() reduced and the mass of the bob
increased

reduced and also the mass of the bob
reduced

{d)

(Comid.)
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Two ideniical blocks of ice, A and B, float
in water as shown in the figure given above.
Which one among the following statements
in this regard is correct 7

{a) Block A displaces a greater volume of
waler since the pressure acls on a
smaller bottom area

Block A displaces a greater valume of
water since 11s submerged end is lower
in the water

Block B displaces a greater volume of
water since its submerged end has a
greater arca in water

The two blocks displace equal volumes
of water since they have the same
specific gravity and same mass

(b)
(c)

(d)

When a ship floats on water :
(a) it displaces no water

(h) the mass of water displaced is equal to
the mass of the ship
(c}

the mass of water displaced is lesser
than the mass of the ship
(d)

the mass of water displaced is greater
than the mass of the ship

Sound moves with higher velocity if

(a) pressure of the medium is decreased

(b} temperature of the medium is
increased

{c) humidity of the medium is increased

{d) both (k) and (c) above

Which one of the following is the comect

angle between the incident and reflected rays

when a ray of light incident normally on a
plane mirror 7

(ay 180°
(k) 90° .
(e} 45°

(dy o°

133

134,

135.

Which one of the following four glass lenses
is a diverging lens ?

Magnetism of 4 bar magnet can be destroyed

ifiis:

1. kept in the magnetic meridian,

2. placed in a direction opposite that
of the Earth’s horizontal intensity.

3. heated 0 a temperalure known as
Curig temperature,

Select the correct answer using the code

given below :

(a) 1 and 3 only

(b} 2 only

(¢) 2 and 3 only

(dy 1,2 and 3

Capacity of a parallel plate condenser can

be?i?:ubllred b}-m

. doubling the areas of the plates

2. doubling the distance of separation
between the plates

3. reducing the distance of separation
between the plates to half the original
separation

4. doubling both the areas of the plates
and the distance of separation between
the plates

Select the correct answer using the code
given below ;
(a) | and 4
() | and3
{c) 3 only
(d) 2 and 3
{Contd.)
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If two conducting spheres are separately
charged and then brought in contact :

{a) the total encrgy of the two spheres is
conserved

the total charge on the spheres is
conserved

(b)

{c) both the 1otal energy and charge are

conserved

{d) the fina) potential is always the mean

of the eriginal potential of the two
spheres

Two pieces of metallic wire having equal
length and equal volume placed in air have
different resistances. The two wires must

{a) have different cross sections

(b} have different lemperatures

(e} be of different materials

(d) be of same density

If a heater coil is cut into two equal parts
and only one part is used in the heater, the
heat generated will be :

(a) doubled

(b} four times

{c) one-fourth

{d) halved

The ditection of magnetic field at a peint
due 1o an infinitely long wire carrying
current is @

{a)
(b
(=)

paralle! to the current

antiparallel to the current

along the perpendicular drawn from a
point on the wirc

perpendicular to the plane containing
the conductor and the point

(d)

140. A hollow metal ball carrying an electric

141

142.

143.

charge produces no electric field at points :
{2) outside the sphere

(b} on its surface

ic) inside the sphere

(d) only at the centre

A man is sitting on a rotating stool with his
arms outsieetched. 1f suddenty he folds his
arm the angular velocity of the man would :

{a) increase

(b} detrease

(c) become zero

{d) remain constant

For a particle revolving in a circular path,
the acceleration of the particle is

{a) along the tangent

(b along the radius

{c) 2ero

(d)

along the circumference of the circle

A circus performer of mass M is walking
along a wire as shown in ihe figure
given above. The tension T in the wire is :
{2 = acceleration due to gravity)

(a)
bl
(e}
(d)

approximately Mg
less than Mg
more than g

depends on whether the performer
stands on one or two fect

(Comtd.)
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146.

—
Upper siring

f—

| Lower string

I
A heavy ball is suspended as shown in the
figure given above, A quick jerk on the lower
string will break that string but a slow pull
on the lower string will break the upper
string. The first result occurs because :
(a)
(b}
(el
(d)

the force is too small 1o move the ball
air friction holds the ball back

of action and reaction .

the ball has inerfia

The vizible light has a wavelength range
from about 380 nm (violet) to 780 nm (red).
If an excited object emits light with
wavelength of 15 nm, to which one of the
following ranges does it belong 7

(a) Xeray

(b) Camma ray

{c) Infrared

(d) Ultraviolet

Microwave oven consumes less power due
to!
{a)
)
(c)

small frequency of radiation

shor wavelength of radiation

large frequency as well as wavelength
of radiation

small frequency as well as wavelength
of radiation

(d)

147,

148,

149.

130,

The sun is constantly radiating energy and
vet its surface temperature is ncarly constant
at 6000°C. The constancy of solar
temperature is due o

{a) MNssion

(b} radicactivity

{c) fusion

(dy black hole evaporation

An annular solar eclipse occurred during
January 2010 with duration of annularity
around 12 minwes. [t is predicted that such
long annubar duration will not occur till the

vear 3043. Such prediction is possible due
w:

(a) Einstein's theory of relativity

{b) Darwin's theory of natural selection
(c) Newton's theory of gravitation

(d) Hawking's theory of black hole
Interne! communication uses optical fibre
cables because of

(a)
{b)
(5]
(d)

low cost

free from virus threal

high data carrying capacity

faster than light communication of
signals

Metal pipes used to cary water somelimeas
burst in the winter, This is because :

(2)
(b)
(<)

water expands when it freczes
metal contracts more than water

outside of the pipe contracts more than
inside

(d)} metal expands more than water

{Comtd.)
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